



## **Hassell Primary School Funding for PE and Sports provision 2015 – 2016**

The sports provision at Hassell Primary is already considerable. Pupils are able to take part in a range of activities which include:

- \*professional sports coaching within games lessons,
- \*swimming lessons at KS2,
- \*Adventurous outdoor pursuit residential activities,
- \* Taster sessions in different sports including dance mats, Zumba, trampolining and climbing
- \*After school activities in kick boxing, Judo, football (boys and girls), cricket and multisports.
- \*Participation in School Games competitions against other local primary schools.

In addition to these activities the school will be participating in a range of sporting activities over the next academic year. The aim of these activities is to promote healthy lifestyles and physical wellbeing in all pupils, encourage a lifelong love of sports and to challenge and stimulate learning for both pupils and staff within our school. The programme incorporates rigorous professional development for our staff in order that we can continue to deliver high quality, sustainable, sporting activities in future years.

The following table indicates the range of activities that will be taking place, but is flexible and will continue to be a work 'in progress' according to the needs of the school and its community. If you would like further clarification of activities, please do not hesitate to speak to Mrs Broome or Mrs Pokora.

Provision	Date	Impact	Cost
<p>Intra school sports competitions for EYFS, KS1 and KS2</p>	<p>One tournament per term. Each term will focus on a different sporting activity according to skills taught during lessons.</p>	<p>Children will further their learning within the skills of:            Fair play            Team work            Challenge            They will also strengthen their emotional and social understanding through:            Belonging to a team            Understanding each other's strengths and areas for support,            Working towards a common goal.            As well as being able to apply the specific skills taught during their PE lessons.</p>	<p>£200 per week x 6 weeks = £1200             (covers sports coaches to run the different competitions, including staff CPD opportunities)</p>
<p>Sports taster sessions:            A variety of opportunities will be available over the course of the year for pupils to try different sports. These include lessons which link to other subjects within school e.g culture week where children will be able to try sports linked to the countries</p>	<p>A variety of different activities over the course of the year.</p>	<p>Children will have the opportunity to try a range of different sports. They will learn to use and extend the skills taught within school. Where possible, children will be given the opportunity to join after school clubs in the new sports. Staff will be provided with CPD</p>	<p>£350 x 6 day activity sessions = £2100</p>

<p>studied e.g cheerleading and American football, archery and fencing. Staff will also receive CPD by observing best practise for continued use within school. This will update, extend and further develop their skill and subject knowledge gained during previous gymnastics CPD provided within the school setting.</p>		<p>training through their visit to enable them to improve their delivery (where appropriate) of other sports within school</p>	
<p>Disability sports week: Following on from the success of the Olympics and Paralympics in 2012, we have held annual disability sports weeks within school. This gives the pupils the opportunity to participate in sports that have been modified for players with disabilities e.g wheelchair basket ball and football for those with vision impairments.</p>	<p>Provisional date May 2016</p>	<p>Pupils have a greater understanding and empathy for those who have disabilities. This is demonstrated in their social interaction with one another and support for students with disabilities in school.</p>	<p>Costs to be confirmed.</p>
<p>Dance workshops for classes which lead to pupils performing for the wider community. Staff will also receive CPD opportunities for best practise.</p>	<p>To be confirmed</p>	<p>Children will receive tuition in dance to enhance the curriculum currently delivered within school. The end focus being a performance for their peers, parents and the wider</p>	<p>6 x £350 = £2100 (workshops) 1 x £500 – dance programme</p>

<p>Access to interactive Dance Software to help improve dance lessons within school.</p>		<p>community.  This will further the children's subject knowledge and dance skills, but will also encourage increased self-confidence, team work and commitment, in order for the children to perform for a wider audience than their class. Staff subject knowledge and skill level will also be improved by observing good practise during the lessons. This will enhance their own practise for future use.</p>	
<p>'Young Sports Leader' qualification for pupils in year 6.</p>	<p>To be confirmed</p>	<p>This is an accredited programme which equips our pupils with the skills to become young sports leaders. This will then enable them to organise and lead playtime sports activities for our younger students throughout school, thus extending their physical activity through games and sports at lunchtimes. It also encourages the older students to be positive role models and fosters stronger relationships within the school community.</p>	<p>Approx £25.00 per pupil. Costs and numbers to be confirmed.</p>

		The year 6 pupils will also be able to lead a training initiative for Year 5 pupils during the Summer term in order for them to continue to provide the lunchtime support for younger pupils within the next academic year.	
Play time sports and games training for lunchtime supervisors,	September, November, February, May	Lunchtime support staff have the necessary skills and training to complete additional sports activities with the pupils at lunchtime, thus encouraging more pupils to participate in sporting activities during the school day.	4 x £50 = £200
PE afterschool lessons for team training : To give additional support to those pupils who participate in team activities within the school. This includes hire costs for premises outside of school. Includes, football, cricket, tag rugby and athletics.	On going over the year	Pupils participating in team sports are more confident in their part and the whole game scenario. Opportunities are provided for pupils to use appropriate facilities for the sport when not available on site.	£15 per session x 20 weeks = £300
Additional after school lessons for those pupils wishing to participate for fun, to gain	On going over the year	Increased participation from a range of pupils who would not often choose to participate due	£15 per session X 20 weeks = £300

confidence and enjoyment.		to their limited ability in regular sports such as football. Increased numbers of pupils playing sport in after school activities.	
		Total expenditure	£6700 (+ dance, monitoring time for PE coordinator and sports leaders award.)